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Moayab Nel
TECTHU JJI1 KOHTPOJIIO 3HAHbL JIEKCUYHOI'O MATEPIAJTY

Test #1 «EJIeKTpUYHHIA CTPYM, HOr0 BJIACTHBOCTI»

Variant 1
Match the following English terms with their Ukrainian equivalents.
a. to melt 1) mocriitHuii cTpym
b. overload 2) HU3BKUU TUCK
c. source of power 3) Hanpyra
d. d.c. 4) noTik
e. low-pressure 5) HanpsIMOK
f. voltage 6) pO3IIaBIATUCS
g. flow 7) 3MIHHUI CTpyM
h. electricity 8) mepeaBHTaKEHHS
1. direction 9) enexTpuka
J. current 10) enekTpuyHMil CTpyM
Moayab Ne2
Test #1 «EJIeKTpUYHHIA CTPYM Ta HOI0 BJIACTHBOCTI»
Variant 1

Complete the sentences with the appropriate ending.
1) An inductor is used when
2) An inductance of a resistor may be reduced to minimum when the resistor’s wire

3) The fewer turns of wire has an inductor
4) A long thin coil of wire has a lower inductance than
5) An iron-cored inductor is often called
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TECTHU JJI1 KOHTPOJIIO 3HAHD 3 TPAMATHUKA

Test #1 “The Noun”
Variant 1
L. Write the plurals of the following nouns.
Scientist, company, shelf, brush, foot, dictionary, statesman, sheep, graduate,
curriculum, month, activity, tutor, second-year student, half, tooth, key, child, glass, wife.

1. Underline the correct item.

1. Television news gives/ give you more information than radio news. 2. The economics I
learnt at school is/ are out of date now. 3. Chocolate makes/ make you put on
weight. 4. The young couple is/are getting married next year. 5. The money he earns
is/are enough to live on.

Test #2 “The Numeral”

Variant 2
Write in words
1) 276.403 5)107°
2) 53¢ 6) 5 115
3) 5,769 — 348= 5,421 7) 75
4)\49 =7 8) 40

Test #3 “Tenses in Active Voice”

Variant 1
Put the verbs into the correct tense.
1. He i1s dizzy. He (to work) on the computer all night. 2. Peter
(to play) football at the moment. 3. He wants to become a footballer when
he (to grow up). 4. This time next week | (to lie) on a beach
in Spain. 5. As soon as she (to come) home today, she (to
cook) dinner for you. 6. She (to call) two hours ago. 7. He can’t find his

wallet. He (to lose) it.



